EN: This Datasheet is presented by the manufacturer.

Please visit our website for pricing and availability at www.hestore.hu.



http://www.hestore.hu/

REVISIONS

REV

DESCRIPTION

DATE

f=—5—
11.1
N
—5.55~ -~
i ] |
1 N
d_ ~ - ] 1
(2 T [ g{/_j\\l | T
TH N
b %
- L —HB~-
% F 4o £ PR
N 1HReap ~ MOUNTING HOLE
| I - Il 1l N [ L
M M} I
X s | K
(Ip] | i
o~
S — l:i 11:0.05
5
PART NO. | THREAD | MATERIAL FINISH PTES
PCB-7 M3x0.5 BRASS TIN PLATED M3
PCB-7R M3x0.5 |RED COPPER| TIN PLATED M3
PCB-7(M4) M4x0.7 BRASS TIN PLATED M4
PCB-7R(M4) | M4x0.7 |RED COPPER| TIN PLATED Mg
PCB-7(MS5) M5x0.8 BRASS TIN PLATED 5
PCB-7(632) #6322 BRASS TIN PLATED 557
PCB-7NI M3x0.5 | BRASS |NICKEL PLATED| \M32018-09-06
R&D
TITLE
MATERIAL DATE
SEE ABOVE 2001.03.23
FINISH DRAWN
SEE ABOVE
PART NUMBER DRAWMNG NUMBER BOLOR GHECK
SEE ABOVE PCB-7
SIZE SCALE 31 UNIT — REV c R e iESITED e K ,/’
U




